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procodivee Tor senpling 18 ws ol lovs:

celach a ebod of tweoos Tods montly supgpe weples The stond should
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Climose 5 sugar nmoples along roads or open aress with ©all erowas.

The five trecs wey be close 4o each other bub nob touching., With a
AT el duto the crvown of the fiost tvee ag Tar as the

pruner will perndt and olip Tive 30 inch twigs.

Count the egg magses on the firvst twig. IT theve are Lless thon 8 eng
masses on the fivst twig, count the epg wosses on the second twig snd

accunulete the covabts as you go. JIf the tobal epa masses Tor the
Lo bwigs do wot add to 8, thoen continve on o the d twig, odding
the epg wavses until all five bwigs are gesyched and counhed, IF the
total nudber of cgg wasses on the Five twigs still do not total to 3,
continve on to the second tree, clip five more twigs, accumulate the

Leounts end continue on dn this menner, clinping five 30 dnch Ywigs Trom

the rénaining three breoes vntil 8 epg masses are found. As soon as 8
egg mospes are Jound, stop seapling end conbinve on to another aroa,

O WOre wrg wasses on 25 bwips will vesvld dn noticeshle defoliation.

o

TE the total nuwiber of egg masses Tound on the FTiret growp of twenty-
five 30 dnch twigs still do not total 8 o more, refer o the sequen-
tial Table. X£ the tovel count is 3 cpg messes op legs, shop soupling.
dhis means that 3 or less egg wmasses will result in negligible defolia-
tion and you cen procced to another arvea. I, however, the total egg
mass count Lor the 25 twigs ds h, 5, 6, or 7, the potential defolistion
1s s%ill vndecided and you will have 4o conbivue soopling.,

¥E the count falls into this undecided category, select a sixth free
and cub five more 30 inch twigs. Count the nuwber of 27 MAsses on

the Tive twigs, end add these 4o the totsl from the fivst 25 twigs.

Mow refer to the table and you will cee that Tor a 30 Wwig ssuple you
will need a waxinum of 5 egg messes or a minintm of 9 egp masses before
a positive category is veached and sempling ceases. If the combined
covat totals 6, 7, or 8 egg masses, you will have %0 continue sompling.
Comtinue in this wey, clipping Tive 30 iuch twigs Trom additioual trees
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1 oul of 10 stands

will have no noticeable defoliztion.
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